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1) Let's find the generafsolutiondftheequation y' "- 3v' +2 11== 3e<t -1 Oros3x .. ~ ~

a) First find the general.solution ofthehomogeneous equatlon,
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b) Write down the genera/form of the particularsolution ypofthe non-homogeneous

equation ,as well as its firsttwo deiivathiesy~ and y; (yousho,uldhave threeunknowns, call
them A, B;and '"'I •...... " .. , ......•.•.. ,',........•......•.• - ....•..............•.,......•..".
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c) Find the values of A B;and Canddeterrnfne the particular soletion of the.non-homogeneous .
equation.
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d)Using the results above, write the general solutlonof the non-homogeneous equation.
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2) For each of thefoHowil1g equations, give the form of Yp 1 a particular solution of the non-

homogeneous equation, ifthe method of undetermined coeffidents isto be used-Please llseA,
B, C; ". to denote your undstermlnedcoefflcients. Donat compute y , just give its form.
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b) y"_7y'+12y=x5e4x

1<...'1;;.,. 7 k. '\1.- -:;:;.0-
n "'{ .'K-~) JL- 40) ':::.\)

A 0 ('/.:."/.. 'h6i::'.il. 7.1 < d .•"'.,':.+-.' .
- -2: ~. --~ - ~i~-d.-"":'

_-; ...":.- •.:.:-,"">,;":" ..,,;,-,,---,_~:-,-_,,_,:,>~,,<¥,,,:~,,,,,,:,,,,,,">,_.N-:;.-.>;.;.- •. ..,..••.•.••.••••, .•.."'" ..•
"""""'<',,<, ••, •.,., ·,···~,····,·"'-'.···."',c·.·'•.••. M' '

c) y"-y= e? ~ e' +e" cosx
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d) y"'+4y'+8y=:Ce-2Xsfu2x+xe~2.T rosa
1~~+4-k:;;.e, -=- 0

(
~ __-L. ~tt.-

~--."""""'-",! ..•.- ...,,'
r

~ -1..±~l

i~":t\-t.:~"i.CQS~X -t-C;l,-it.-X$I.J~'X

r . ... ~
'l? :;;(1 ( fo.,~ >l:~;Zi+C:'<+D )~2-7\. w~'?x+ [t.)<.'+ t:£1,'+&~J(+~)e- ~s L..,J ~ j( {
J~ L.- .. ~

r
!
I

•...1 .-.....,; _. """..•....•.........---.....w,_"._ .._ "w~.'O ..·.~~.,_.·.······.·· :..•..•... ,•.....•..........

I



:3}Use the method of variation of parameters to find the general :solution of
. .' .. ' eX

y"e-. 2y' +y==~, Ndtice that undetermined coeffidentswill not work here.
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